(158 ASE=E
S 44 of, AR (W /h) B 300 4% 500

(158H) BoB=E
Mg 61 nd, AR (9 /h) : 2 400 4 600




(2548) S—FT 4 7=A
S 56 mt, B (W /h) : B 400 % 600

(25€8) I—FT 4 /=B
HfE 40 m, fEAE (M /h) : B 300 4 400 1Y




(2 5fH) CAL
HEFE 140 nf, XA A% 48 A, fHEAE (F /h) : B 900 4 1,900 M

(2 5fH) BL2
mAg 112 m, WAEANE 60 A, AR (F /h) : 2 2,000 1 %4 2,300 [




(2 5fH) BL3
R 55 nf, VAN 20 A, AR (9 /h) : B 1,400 F 4 1,600 [

(2 5fH) BL4
mfg 55 m, WAEAE 10 A, FEHE (F /h) : & 1,100 7 %4 1,200 [




(2 %fH) LL1
Hifif 140 nf, WCAAH 54 N, BB (19 /h) : & 1,500 1 4 2,600 M

(2 58E) LL2
mfg 94 m, WAEANE 50 A, AL (F /h) : E 8001 4 1,400 [




